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Abstract

Energy Harvesting is one of the most relevant issues in today green economy; use of
the "stray” energy radiated at Radio-Frequency (RF) by countless wireless devices
is one of the many aspects of present and future Energy Harvesting. On the other
hand, the intentional use of RF sources is also one of the possible approaches
to Wireless Power Transfer (WPT). A common energy harvesting device is the
rectenna, a circuit composed of an antenna, a matching circuit and a rectifier. The
main objective of this work is to understand how the antenna impedance affects
the charge of the capacitor used as load, to find a trade-off between charge time
and maximum achievable voltage.

The antenna choice drops on a patch antenna since it is quite easy to implement
in a circuit, modeled as a sinusoidal voltage generator connected in series to an
impedance starting from some specifications (shape, dielectric, physical dimensions
and so on). The rectifier is a half-wave rectifier, due to a high power conversion
efficiency and no matching circuit is used to prevent additional losses to obtain the
impedance matching.

The circuit was studied initially assuming the impedance purely resistive, then
using its complete model. From the analysis it can be noted that::

e the maximum input voltage achievable from the antenna is related to the
radiation resistance;

e fixing the antenna quality factor, the smaller is the radiation resistance the
faster is the charge;

e fixing the radiation resistance, the higher is the antenna quality factor the
faster is the charge. It is observed that the limit case with the resistance alone
has the slowest charge;

e the output voltage in steady state depends mainly on the diode.

These results are coherent with simulations performed by circuit simulators.
From tests done on half-wave rectifier and single stage voltage multiplier in the
anechoic chamber to charge a small capacitor, connecting them to a patch antenna
and a dipole and used to charge a small capacitor it can be concluded that:

e the half-wave rectifier produces a higher output voltage than the other topol-
ogy independently on the receiver antenna used;

e the patch allows to get a higher output voltage due to a higher gain with
respect the dipole;



e the measured voltages are lower than the theoretical expectations, since the
model does not consider any losses.
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Chapter 1

Introduction

Wireless power transfer (WPT) is the transmission of electrical energy without
wires. This technology enables to charge electrical devices where the connection
with a wire is difficult or not feasible. Wireless power technique can be subdivided
in three categories:

e near-field, or non-radiative technique in which the power is transferred over
short distance exploiting inductive coupling between coils of wires, or by elec-
tric field using capacitive coupling between metal electrodes; It is widely com-
mercialized but is suffers from extremely short charging distances:

e far-field directive, or radiative technique in which the power is transferred by
means of electromegnetic radiation such as laser beams or microwaves;

e far-field ambient radio frequency (RF) energy harvesting, in which the power
source is the ambient RF energy;

Far field techniques allows to overcome the distance problem. Furthermore, RF
energy harvesting becomes more fascinating during the last decades for growing
transmission broadcast RF energy. This ambient energy can be seen as ”free”
powering source. In this case the receiver efficiency is crucial due to the low input
power.

1.1 Objective and motivations

An RF power harvester capable to generate enough DC power to supply a wireless
system can be used as starting point for future wireless systems, such as portable
devices or mobile phones, with a self powered scheme without restoring the batteries
[1].

A common energy harvesting device is the rectenna, made up with an antenna
ad a rectifier circuit, used to convert the RF incident power to DC power. This
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1 — Introduction

device usually is connected to a storage element in order to collect all the received
electromagnetic power. In this thesis it is studied how the antenna parameters
(impedance and quality factor) impacts on the charge a capacitor used as load.

1.2 Thesis outline

This thesis is subdivided in many chapters:

e in chapter 2 it is described the rectenna structure, focusing on the antenna
and the rectifier:

— starting from the mathematical description of the antenna an equivalent
circuit is obtained;

— it is discussed about the proper rectifier topology for this application and
then the component choice.

e in chapter 3 the complete circuit is analyzed and simulated with many circuit
simulators;

e in chapter 4 are reported the experimental results obtained in laboratory,
testing the proposed circuit and commercial energy harvesting kit.

1.3 Thesis contribution

In this thesis it is studied the transient of the output voltage of a rectenna, focusing
on the charge time an the maximum achievable voltage level which is important
in an optic to use this collected energy to supply other circuits. In a low power
input scenario the charge time is quite long, so a complete simulation to estimate
the transient can take much time using standard circuit simulators, for this reason
an algorithm is developed to simulate the circuit in a much faster way. From these
results it is possible to choose the antenna and the other components in order to
get the best performances.



Chapter 2

Rectenna

A rectenna is a circuit used to collect wireless transmitted power and to convert it
on DC power. A typical rectenna is composed by an antenna, a matching circuit,
a rectifier and a load (figure 2.1).

PRF \[/ . . .
Energy harvesting circuit

Matching
Circuit

Figure 2.1: Rectenna structure

In an optic of low power level, all the circuit losses impact strongly on the system
funcionality. For this reason the matching circuit is not considered in this case, since
even with a matching net with lossless elements, in order to get a perfect matching
of impedance a lot of power must be despoiled by the matching circuit [2]. The
rectenna is supposed to work for frequencies of 915 MHz and 860 MHz, according
to the US and EU normative respectively.

2.1 Antenna

For this project the idea is to use a patch antenna, since it is quite easy to build
and in can be integrated in an electronic circuit with the other devices. Two kinds
of patch antenna may be used:

e microstrip-fed patch, by means of a stripline;
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2 — Rectenna

Patch

Feeding line

#
Dielectric

¥ !

Figure 2.2: Patch antenna - microstrip feed

e probe-fed patch with a coaxial cable;

Patch

Feeding probe

Dielectric

r !

Figure 2.3: Patch antenna - probe feed

The focus point is to get an equivalent circuit of the structure. As first approx-
imation the antenna can be modeled as a voltage generator in series to a generic
impedance (figure 2.4):



2.1 — Antenna

Za

Figure 2.4: Antenna equivalent circuit

2.1.1 Input voltage

The first step consist to determine the input voltage. An important parameter for
the antenna is the effective height h. that relates the induced voltage to the incident
electric field [3]:

anﬁe'ﬁz ‘hellEinc‘he'Einc (21)

Assuming the antenna oriented in the direction of the maximum reception, the
expression 2.1 can be simplified as:

‘/in = |heHE'mc‘ (22)

The effective height is related to the physical dimensions of the antenna and the
frequency:

(0,82 = NG (6, 8)] = Ay G L

2.
7TZ() 7TZO ( 3)

where:

e G is the (maximum) gain of the antenna in linear unit;
e R,.q is radiation resistance;

Ao

A:
[ ] \/a

is the wavelength in the patch medium.

EIRP considerations

The maximum value of the incident electric field on the antenna can be evaluated
starting from the limitations on the maximum power density that can be radiated.
The first consideration is related to the Effective Isotropic Radiated Power (or
EIRP) that is the power density radiated by an ideal isotropic antenna. It refers
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2 — Rectenna

the effective power transmitted in a radio system. The EIRP (in dBm) is calculated
using this formula:

EIRP =P, —C,+ G, [dB] (2.4)
where:
e P, is the transmitter power output (dBm)?;
e (; is the signal loss in cable (dB);
e G, gain of the antenna (dBi)?%.

Since in this case the reciver side is considered, it is possible to neglect the cable
losses. In this case the EIRP can be simplified in linear unit as:

The normative ETS 300-328 fixes a limit on the maximum transmitted power with
an EIRP of 100 mW (20 dBm) for the frequency range involved on this project
(and the harmonics). The power density can be expressed as:

dP Pinc |Einc‘2

Where 7 is the free space impedance and r is the distance. Since:
Pine = Pout - Gt = EIRP

it is possible express the incident field in terms of EIRP:

1 [EIRP Z,
Eine| = —| =20 2.7
| Binel = o (2.7)

Supposing to place the receiver at distance r = 1.5 m from the radiating source,
the corresponding maximum incident field is:

| Fine| = 1.633 V/m

From this result it is possible to get an order of magnitude of the voltage at the
antenna terminal, that can be used for the successive simulations.

Power ratio in decibels (dB) of the measured power referenced to one milliwatt (mW).

2Power ratio in decibels relative to an isotropic radiator.
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2.1 — Antenna

Gain
The gain is defined to relate the power density to the input power:
()
dx /.,
9(97 ¢) = B ’079{) (2.8)

47r?
where the input power P;, may be obtained from the radiated power P,.q through
the efficiency v:

Prad = VPin
By making some calculation it is possible to evaluate the maximum gain as:
ATy
G = (2.9)

[27dg [T dfsin0|e(0, )|

where €(6, ) is the specific radiation vector of the antenna. In the case of a patch
antenna:
., Yo W L . .
€0, ) o ¢psinbsinc | wcosh-— | cos | m— sinfsin ¢
Ao Ao
A plot of the gain in function of the ratios W/\g and L/\g is shown in figure 2.5:

G, dB

02 03 04 05 06 07 08 09 1
Wik,

Figure 2.5: Maximum patch gain at resonance [4] (the parameter is L/\o)

3The polarization is linear;
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2 — Rectenna

A practical value of the gain of 6 dB was used, independently on the size ratio,
in order to take into account possible losses and non-idealities.

Radiation resistance

The radiation resistance can be evaluated starting from the definition of input

power:

1
F)i = EGrad|‘/in|2 (210)

Considering a lossless case:
v=1 — Rn = Lrad
it is possible rewrite the expression 2.10 as:

1 |Einc|2
Pra = _Gra V;n 2 = 2.11
1= 5Grad|Vin| 27, (2.11)

the incident field can be expressed in function of the specific radiation vector of the
antenna €0, ¢):

1

42

Eine(r,0,0) = / / sinfé(f, ¢)dY  —  dY = r*sin Odedd (2.12)

In the case of a patch antenna, €(6, ¢) can be expressed as:

L N
ep sin 6 sinc <7r cosé’)\ﬂ) cos (71’)\— sin 6 sin gb) ¢ for—m/2 <o <m/2
0 0

0 for—m/2 <oV >mn/2

e, o) =

where

— ‘/m4 R
€o J T Ao

So the radiation conductance can be derived as:

4 (WN\? [T w1 /2 L
Grog = — | — / sin® 0 [sinc <7T cos 9—)] do cos? (7?— sin 6 sin ) d
T Z <)\0> 0 Ao — Ao 0)e
(2.13)

At resonance, since S{Y,} = 0, it is possible to write:

Rrad(wr) = éR{Za(WT)} - %{Ya(lw,n)} - Gradl(wr>

In particular it is possible to notice that the radiation resistance depends on the
physical dimensions W and L of the patch as it is shown in figure 2.6:
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2.1 — Antenna

param. is L/%,
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Figure 2.6: R,,q at resonance [4]

From these considerations it is possible to represent the patch impedance: as-
suming the radiation produced just to two magnetic currents localized at the edges
of the patch and separated by a transmission line, it is possible to get the two
radiating edges model (figure 2.7). In this case:

1
Gedge (W) ~ 5 G(rad (wr)

In reality this approximation that is valid at resonance frequency only.

Feed line ”Patch” line

Gedge Gedge

Figure 2.7: Two radiating edges model

By looking at the termination of the patch a strong field variation is present. This
electric field is called fringing field and it corresponds to a charge accumulation:

—

V-E=—jwp
13



2 — Rectenna

This effect can be represented in the circuit by adding a pair of capacitances, the
so called fringing capacitances Cr, in parallel to the conductances (figure 2.8):

Feed line ?Patch” line
S I —

CF _ Gedge CF _ Gedge
= —

Figure 2.8: Model with finging capacitances

The effect of these capacitances can be interpreted as a pair of increments AL
of the patch electrical length:

Less = L+2AL

A
A 4

Gedge Gedge

Figure 2.9: Patch model (edge feeding)

Assuming Gqge constant for all the frequencies, the equivalent impedance shows
a frequency behaviour as figure 2.10:
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2.1 — Antenna

100 -

—R{Z}
—s g

800 850 900 950
f[MHz]

Figure 2.10: Example of patch frequemcy response

All the previous discussions were based on the assumption that the patch has
been feed at one of the edges, that is the case in which the radiating resistance
is the maximum. It is possible to change the antenna impedance by changing the
feeding point. Supposing to put the probe position at a distance x from the edge:

L

J‘\
\j

Gedge Gedge

YFL(x) YFR<£L')

Figure 2.11: Patch model (recessed feeding)

Yin(7) = Ypr(7) + Yrr()

So it is possible to get many value of impedance by properly choosing the tap
point:

e the impedance gets a high value when the patch is feed from one edge (R,.q(0));
15



2 — Rectenna

e when the tap point is at center,a very small resistance is present (ry2).

Neglecting the center resistance, it is possible to express the variation of the ra-
diation resistance in function of the position of the feeding point by the following
relation:

Z:Z%; ~ cos’ (7‘(‘%) (2.14)

In figure 2.12 is present graphical representation of this behaviour:

1 I T

from TL theory
09 2
+ 1 tcos (m2)
o8 cosz{n';}
07 Y

0.6 Y
¥ 0:4 %ﬁ

Z.(2)1Z(0)
=
f-'n

0.3
0.2
0.1

% 0.1 0.2 0.3

z=x¥L, x=tap distance

Figure 2.12: Impedance variation along x of different models [4]

In this way it is possible to rewrite the effective height in function of the feeding
point:

Rrad(m)
7TZO

ho(2)| = M| G = |he(0)] cos (wf) (2.15)

L

where h,(0) is the maximum value evaluated at the edge:

o Rrad(o)
[2(0)] = A4 G?T—ZQ

16



2.1 — Antenna

Numerical results

Starting from all the considerations of chapter 2.1.1, it is well evident that the
input voltage depends on the dimensions of the antenna, so each project must be
considered stand alone. To get an order of magnitude of the input voltage for the
simulations, the following values are considered:

o fo =868 MHz — A0:f£:345.6 mm
0

e ¢, =1 (air) > A= \g=345.6 mm
e R.0a(0) = Ryqa(x) = 200 €2 (supposing to feed the patch at the edge);
e Gyg=6dB — G =3.98;
it points out an effective height:
|he| = 283.3 mm
So the maximum input voltage has an order of magnitude of:

Vi, =05V

2.1.2 Antenna impedance

As already discussed, the frequency response of the patch is shown figure 2.10. This
behaviour is the same of a parallel RLC resonator in the frequency range around
the resonance frequency.

Q

R
AN
L
L rYYY |

Figure 2.13: Parallel RLC resonator

The impedance can be written in the Fourier domain as:
JwRL
jwL —w?RLC' + R
17
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2 — Rectenna

or alternatively the admittance:
. 1 't .
Yis(jw) = 5 —j—7 +jwC
In order to simplify the computation it is needed to pass from the equivalent
circuit of the transmission line to an approximate resonator. Considering the circuit
already discussed in figure 2.14:

A
Y_.

~

— )

CF - Redge T T Redge
!

Zrr(z)  Zpr(z)

Figure 2.14: Patch circuit

The impedance that can be seen from each side, neglecting all the line losses,
can be written as:

Z1, + Zy tan(kl)
Zri(l) = Z, 2.16
F() 0 |:Z0+ZLtaH<kl> ( )
where:
e 7 is the characteristic impedance of the patch;
e 7 is the termination impedance:
1 Red e
Z — Z y — RB e = g 217
L L(](JJ) %9 //j(UCF 14 ijedgeCF ( )
e [k is the wavenumber: 5
J— 7” (2.18)

The equivalent impedance that can be seen from the feeding point can be evaluated
as:

7 _z {ZL + Zy tan(k:x)}
L °| Zy + Z;, tan(kz)
P [ZL+Zotan[k:(L—1‘)]]
Fh °1 Zo + Zy tan [k(L — z)]

Zz’n = ZFL//ZFR

18



2.1 — Antenna

In order to get the equivalent resonator, it is useful to consider also the input

admittance: .

Z;
The graphical representation is shown in figure 2.15:

Yin =

0.06 -
0.04 -

0.02 -

-0.02 -

004r — RV} 8]

—S{Y}IS]
_006 | I | |
800 850 900 950

f [MHZ]

Figure 2.15: Input admittance of the patch

From this result it is possible to get R, L ans C' starting from the following
considerations:

e the real part is almost constant and it coincides with the reciprocal of the

resonator resistance: 1

It is important to notice that also the resonator resistance is similar to the
radiation resistance, previously computed, if the feeding point is sufficiently
far from the center of the patch (where it is null).

R~ Rrad

e the resonance frequency can be approximated as:

1 1
— S L=——

wo = VILC waC

e the imaginary part of the input admittance can be written as:

wlL w

2
Im{Ym}:wC—i:C’(w—@)

19



2 — Rectenna

So starting from some data obtained with Matlab it is possible to get all the pa-
rameters of the equivalent resonator. In conclusion the equivalent circuit for the
antenna is shown in figure 2.16:

Q

R

— A
L

L rYYY |

Figure 2.16: Antenna equilvaent circuit

It is important to underline that this approximation is valid just for a small
range around the resonance frequency.

2.1.3 Simulations

The Istituto superiore Mario Boella (ISMB) provided a Matlab code to design
patch antennas: it allows to get the physical dimensions and the transmission line
parameters of a patch providing as input:

e the central frequency fo;
e the dielectric height h;
e the dielectric constant &,.

Furthermore it allowed to choose the kind of feeding (microstrip or probe) and the
design metrics (squared patch or fixed W).

The results obtained from this code were used to get the equivalent circuit discussed
in chapters 2.1.1 and 2.1.2. To this aim, two additional parameters must be used:

e antenna gain G;
e distance from the antenna r;

The first step was the choice of the substrate that is quite important, since the
correct value of the dielectric coefficient allows to get the resonance matching and
the circuit may work. Several metrics may be used for the choice of the most

20



2.1 — Antenna

appropriate substrate, depending on the costs and the availability of the material.
For the project it was opted for the substrate ROHACELL. In the the table 2.1 the

main electric characteristics are reported:

Propriety Frequency | ROHACELL | ROHACELL | ROHACELL
(GHZ] 31 HF 51 HF 71 HF
2.5 1.050 1.057 1.075
. . 5 1.043 1.065 1.106
Dielectric Constant 10 1.046 1.067 1.093
26.5 1.041 1.048 1.093
2.5 <0.0002 <0.0002 <0.0002
Loss Tangent 5 0.0016 0.0008 0.0016
10 0.0017 0.0041 0.0038
26.5 0.0106 0.0135 0.0155

Table 2.1: Electrical Properties of ROHACELL HF

Two squared patch probe feed were realized. The design data are reported in

the following list:

e a ROHACELL HF 31 substrate with

— h = 0.508 mm

— & = 1.050

o fo = 868,915 MHz

e (=6dB

e r—15mm

In table 2.2 are reported all the transmission line of the patches:

Squared patch (W=L)

Frequency ~Width  Length &, ., Redge Cr Do

[MHz] mm|  [mm] [€2] [F] [€2]
868 163.185 163.185 1.0474 201.583 1.0506 8.2433
915 154.530 154.530 1.0473 202.294 0.9942 8.6704

Table 2.2: Patches - transmission line parameterss

For each patch, two versions were realized changing the feeding point (using the
edges as reference coordinate) in order to obtain two different input impedances:

21



2 — Rectenna

e a 50 Q input impedance, in order to be attached to others rectenna kit already
presents on the market;

e a maximum radiation resistance. In this case the feeding was placed at a
small distance from the edge for feasibility reasons. The frequency responses
are shown in figure 2.17 and 2.18 in which there is the comparison between
the transmission line and the equivalent circuit frequency responses:

In table 2.3 are reported the circuit parameters of each patch antenna:

Square patch (W=L)

Frequency Feeding position R,es L, Chres
[MHz] [mm] [ [PH] [PF]
368 54 50.152 245.153 137.140
2 200.010 980.075  34.304
015 50 51.856  253.097 119.540
2 200.804 982.662 30.789

Table 2.3: Patches - circuit parameters

250 -

200

150

100

50

-50 — R{Z} [?] - Transmission line
—{Z} [Q] - Transmission line

-100 --- ®{Z} [] - Eq. resonator
--- {Z} [Q] - Eq. resonator
_1 50 1 1 1 1 1 1 1 1 1
830 840 850 860 870 880 890 900 910
f[MHz]

Figure 2.17: 868 MHz patch frequency response comparison
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2.2 — Rectifier

250 -

200

150

100

50 F

-50 —R {Z} - Transmission line
— & {Z} - Transmission line

-100 ==~ R {Z} - Eq. resonator
--- S {Z} - Eq. resonator
_1 50 | 1 | | 1 | 1 1 |
870 880 890 900 910 920 930 940 950 960

f [MHZ]

Figure 2.18: 915 MHz patch frequency response comparison

2.2 Rectifier

Electronics circuits require to be supplied a constant voltage. So the received power
from the antenna must be converted from AC to DC. The circuits that perform
this conversion are called rectifiers. These devices are based on diodes, that are
nonlinear devices, and capacitors, that are storage elements, in order to demodulate
the AC input voltage.

The first step is is the topology choice. There are many circuits that can be used
as rectifiers rectifiers. The simplest example is the half-wave rectifier (figure 2.19).
Moreover, since the power involved are quite low, there are circuits that performs
the rectification plus a little boost of the input voltage (figure 2.20, 2.21 and 2.22).

+'—{| I

Vin (1) Cp —— Ry ;Uout(t)

Figure 2.19: Half-wave rectifier
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2 — Rectenna

Vin (t) CL :: RL Vout (t)

Figure 2.20: Single-stage voltage multiplier

+ Ci

|
Vout (t) RL |
_ CL T

| N

+ | ]
Vin(t) AN —

| P .
Cr, |
/. \ CL :: RL ;vout(t)
CrL
. | N B
+ | L1 <
Uzn(t) :: C’L _:

Figure 2.22: Dickson charge pump
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2.2 — Rectifier

The power conversion efficiency is defined as:

Pdc
V=
Pin

where:

e P, is the RF input power collected by the antenna;

e P,.is the DC power of the load resistor.

Once vy, (t) is solved numerically, P,;. can be evaluated as:

(307 vttt

P, =
d i

In [2] it was been analyzed that all the multiple-stages rectifiers produces a higher
output voltage but the power conversion efficiency is maximum in the half-wave
rectifier, independently on the frequency, due to the fact that the losses due to the
voltage are minimized since just many components are presents. For this reason
this topology will be used for this point on. The second step is the components
choice:

e the diode must have a very fast switching time due to the high frequency op-
eration and small device parasitics, especially the junction resistance R; that
dissipates power in the semiconductor witch consequently reduction on the
conversion efficiency. Another important aspect that must be considered is
the harmonic generation: the non-linearity of the diode will generates har-
monics from the incident power, that corresponds to less DC power generated.
The best choice, accordingly on this kind of project, are the Schottky diodes
because the metal-semiconductor junctions allows fast operations and limited
voltage drops. In particular the choice for this design falls upon the HSMS-
286x diode by Avago Technologies. The main parameters are reported in table
2.4:
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2 — Rectenna

Value

Parameter Units
BV [V]
Cyo [PF]
EG [QV]
Igy [A]

N

Rg €]
pPg(VJ)  [V]
Pr(XTI)

M

7.0
0.18
1-107°
5-1078
1.08

6

0.65

2

0.5

Table 2.4: SPICE parameters of HSMS-286x diode

Considering the current range, from the datasheet, the threshold voltage as-

sumes values from 1.5 V to 2.5V;

e the rectifier capacitor is a AQ series of AVX, that is optimized for RF/ Mi-
crowave applications typically ranging from 10 MHz to 4.2 GHz;
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Chapter 3

Theoretical analysis

Starting from all the discussion done in chapter 2, it is possible to get the rectenna
connecting the antenna equivalent circuit to the half wave rectifier. The result is
shown in figure 3.1.

Antenna side Rectifier side

H:_idg)_*bp
1 +
vin(t) @ Clont = Vour(t)
<& v

Figure 3.1: Rectenna generic circuit

e the antenna is modeled as a single tone voltage generator with amplitude Vin
and frequency f connected in series to the antenna impedance Z;,;

e the rectifier circuit consists in a diode in series to a capacitor C', both of them
assumed ideals;

e the load is a capacitor. Since it assumed to be much bigger than the one
present in the rectifier, just a single capacitor is considered in the schematic.

Initially the antenna impedance is modeled just as a resistance and successively
by a parallel RLC resonator. The purpose is to evaluate the impact of the antenna
impedance in the charge of the output capacitor. The most difficult element to
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3 — Theoretical analysis

treat in the analysis is the diode, since it is a non-linear device. So the fist point
consists to define a proper characteristic to model the diode.
Piece-wise linear characteristic

A possible way to represent the diode is through a linear piece-wise (PWL) char-
acteristic (figure 3.2):

- ‘/on
va > Viu (diode ON) — iy = “dR—
(3.1)
vg < V,, (diode OFF) — iy = Ud
Rosy
iq
A
S " v
1
RorFr

Figure 3.2: Diode piece-wise characteristic

In this case in each region the device can be considered as a combination of
linear components and so a closed analytic solution can be obtained [7].
Shockley characteristic

Another way to model the diode, more realistic, is through a Shockley equation, in
which the voltage-current relation is exponential (figure 3.3):

va(t)
iq(t) = I (e Ve — 1) (3.2)
where:

e [, is the reverse saturation current;

kyT
o V, = 2 is the equivalent thermal voltage:
q
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3.1 — Simplified circuit

— ky is the Boltzmann’s constant;
— ¢ is the charge of an electron;

— T is the absolute temperature;

e 7) is the diode emission coefficient.

iq
A

\]

Figure 3.3: Diode exponential characteristic

With this relation the element is non-linear consequently an analytic closed
solution cannot be found.

3.1 Simplified circuit

As first approximation, the antenna impedance is assumed purely resistive (figure
3.4).

Vin(t) @ Cout —— Vout(t)

N N

Figure 3.4: Rectenna simplified circuit

This circuit is a first order circuit since there is just an element with memory.
In the following, it is analyzed modeling the diode with both diode characteristics.
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3 — Theoretical analysis

3.1.1 PWL diode

The circuit must be analyzed during each phase:

e during the ON-phase the diode can be considered as a small resistance con-
nected in series to a DC voltage source (figure 3.5);

e during the OFF-phase the diode can be considered just as a big resistance
(figure 3.6).

In both cases the system is a first order system. Then the solution will be a
combination of the two solutions.

Vin (1) @ Cout —— Vour(1)

N N

Figure 3.5: ON-phase circuit

R Rogy
—\VVV AVAVAY,
_|_
Um<t) @ CYout N UOUt(t)
Gout(t) Y~
N N

Figure 3.6: OFF-phase circuit

ON-Phase

The mesh circuit equations are the followings:

Uin<t> - (R + Ron) ' iout(t) + V:m + Uout(t)
3.3
d’l}out(t) ( )
dt
30
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3.1 — Simplified circuit

For a more simple formulation, by calling:

dvg (t .
d;( ) - Uout<t)

Ton = (R + Ron) : Cout
the expression 3.3 can be rewritten as:

(1) + Lot _ Linl) = Von (3.4)

7_O’fl TOTL

~

The solution of this differential equation, considering vy, (t) = V;, sin(2wt), is:

UOUton (t> = UtT(ln(t) + Uoo (t) (35)
where:
Vm sin(wt to—t
Utran(t) = {Uout(to) + m {w cos(wto) -+ #0)1 + Vvon} . e Ton — ‘/on
Vin sin(wt)
Uoo(t) = —m . |:LL) COS(wt) + Tom :|
OFF-Phase

In this case, the mesh circuit equations are the followings:

Vin(t) = (R + Rofs) - Gout(t) + Vour (1)

Qo (1) (3.6)
. Vout t
Lout(t) = C1ou TV
a2 toat
Similarly to the previous case, by calling:
dvout(t) .
= Vout(t
dt Vout (t)
Tors = (B + Rogy) - Cour
the previous expression can be rewritten as:
: Vou t Vin t
Uout(t) + t( ) - ( ) (37)
Tof f Toff
Again, the solution of this differential equation gives out this result:
Uout, sy (t> = Utran(t> + Voo (t) (38)
where:
fo—t Vi ot sin(wtp)
ran(t) = to) - eToff — . eToff cos(wt _—
Viran () = Vout(to) - € + 1/, e {w (wto) + p_—
1% sin(wt)
Voo(t) = ——————— + |wcos(wt) + ]
o w2—|—1/7'3ff Toff
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3 — Theoretical analysis

Algorithm

Once that all the equations for each phase are known it is possible to evaluate
the charge of the output capacitor through a Matlab code: assuming the capacitor
initially discharged, the diode is initially OFF and the corresponding equation is
used. Than v, can be written as:

Rogs

Vd,p () = [in(t) — Vour ()] - R+ Royy

During the first half of a period vy, (t) increases while v,,(t) stays quite constant.
It is possible to evaluate numerically the time instant ¢y in which vg(¢) = V,,. From
this time on the diode switched-ON and so both the diode equivalent model and
the output voltage’s equation changes:

Ron R

Vi, (1) = [Vin(t) — Vour (t)] - R+ R + Von - T

The new initial condition corresponds to the final voltage reached in the previous
phase Vst = Uout(to). Again it is possible to evaluate the time in which vy(t)
intercept V,,, and consequently the diode switched-OFF and so the process continue
until the capacitor completely charges. The pseudocode is reported as following
(appendix A.1):

Pseudocode for PWL diode (simplified)

1:  set initial condition: Vgtart = 0

2:  set initial time: tstart = 0

3:  start a cycle for t = 0 to Ty, do:

4:  use OFF-Phase equations:  v,ut(t) = Voutypp ()

5. solve the equation: Vdypy = Vo — t =1
6:  set new initial time: totart = to

7 set new initial condition:  Vsiart = Vour(to)

8:  use ON-Phase equations:  vut(t) = Vout,y (£)

9:  solve the equation: Va,, (t) = Vo — t =1
10: simulation end end for

3.1.2 Shockley diode

In this case the circuit cannot be subdivided anymore in two sub-circuits. The
Kirchhoff’s laws are:

) = i (t) (3.9)
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3.1 — Simplified circuit

and the following constitutive relations are valid:

va(t)
id(t) =1 (6 e — 1) (3.10)

d/Uout (t)

iout(t) = Cout dt

(3.11)

Euler’s Method
It possible to study the circuit through a time discrete simulation:

e the fist step consists to subdivide the continuous time in in many time instants
AT:

t - k-AT k=123..
Where AT is a fraction of the period T
T

Npoints

AT =

e the second step consists to replace replace the derivative with the incremental
ratio:

dz(t) () —x(t — AT)

dt AT

This approach is called inverse Euler’s Method [8]. It can be demonstrated that
this method prevent numeric instability, differently form a direct Euler’s Method,
and for this reason it gives a more accurate solution, moreover if the system is
stable, the error is kept limited even increasing the value of k. This method is
particularly useful when it is needed to deal with time dependent generators, as in
this case. Calling:

'Umk = Um<kAT)
Vout, = Uout(kAT>
Vq,, = Ud(]{?AT)
It is possible tho write the current equation as:
vdk

idk _ Ving, — U% — Vouty, — [s (em — 1) (312)

In each time instant, it is possible to define the increment of v,4(t) and v, (t) as

A?)d = Vg, — Vdy,_4

Aonut = Vouty, — Vouty,_,
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3 — Theoretical analysis

The equation 3.12 can be rewritten as:

e Vi enVt — 1]
R

Ving — (Va,_, + Ava) — (Vouty_, + AUput) _ < V1 Awg )

By choosing AT — 0 = AVp — 0 it is possible to express the exponential
term with a Taylor expansion stopping at the first order:

ﬂ Avd)
eV ~ |14 —
( nVi

In this way it is possible to write the increment Avy in a closed form:

Vdp 4
Ving, — Udy,_1 — Vouty_1 — AUout - RIS (6 e — ]-)

o (3.13)
1+ f]s—‘f.fe nVi

Avd =

The next step is to obtain the other increment Aw,;:

Ving, — (Udk—l + Avd) - (UOUtk—l + Avout) AUout

R = Cou

Replacing Avg with the previous expression it is possible to get also a closed form
of Avgy::

Vin, —, —v, i3
( e 1) e =17 AT
Avout = Ta, C (314)
LR AT out
1 + nVi <1 + RCout) € i
It is possible to notice that for all the time instants:
voutk> Udk = f(vinku ,Uoutk,17 ,Udkfl)
So the resulting system is the following:
Vd,.
4 <Uink—vdk7‘>—7)outk_1 I 1) . 'r]kth .
A, — v LAT
out IR AT ’Udk71 Cout
1+ (1 + Rcout> e M
Vdy,_y
Uink - Udk_l - ,Uoutk_l - AUout - R[s (6 e — 1) (315)
Avg = IR Ydg—_1
14 57e M
Vout, = Vouts,_1 + A'Uout
\Vd;, = Vd;,_, + Avd
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3.2 — Complete circuit analysis

If AT" — 0 the series of v,,, and vg, converges to the exact solution of the equa-

tion 3.11. A Matlab code can be implemented to solve the system 3.15 (appendix
A.2:

Pseudocode for Shockley diode (simplified)

1:  set initial condition: Vouty_, = 0
V1 = 0
2: start a cycle: for k =0 to ky,qe do:
3:  evaluate the increments : AvVout = f(Ving s Vouty_y > Vs, )

AUd = f(vinky Vouty,_15 Vdi_1» AUout)
4: evaluate the nonlinear variables: vVou, = Vout,_, + AUout

Vd,, = Udy,_4 + Al)d
5: simulation end: end for

3.2 Complete circuit analysis

The next step consist to replace the resistance by the resonator derived in chapter
2.1.2. The circuit is shown in figure 3.7.

P
R . _
o i (t) o D

VUin(t) @ M Cout —— Vout(?)
* Uant@) a iout(t) \

N N

Figure 3.7: Rectenna complete circuit

The resonator that adds two new state variables as consequence the circuit
becomes a third order circuit. In this case Kirchhoff’s laws are:

{viz(t) = Vant () + va(t) + Vour(t) (3.16)

t) =i (t) +i.(t) + 0(t)
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3 — Theoretical analysis

and the constitutive relations are:

. . dUout(t)

Zout(t) - Cout dt (317)

. - vant(t)

ir(t) = = (3.18)
d'l/ant(t)

teft) =C— (3.19)

i(t) = / t ”“”]i(t) dt (3.20)

Again the circuit is solved by modeling the diode by both piece-wise linear and
exponential equation.

3.2.1 PWL diode

Similarly to the simplified version, the circuit was analyzed during each phase:

P
R (1) Ron :

unl®) (V) L) Cout == Vour(t)
- Vant (t) ~ Gout (1) Y~

Figure 3.8: ON-Phase circuit
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3.2 — Complete circuit analysis

P
R (1) Rogy

wnlt) (V) Lm0} Cout == Vour(1)
T Vane(t) T Tou ()Y~

Figure 3.9: OFF-Phase circuit

ON-phase

All the equations of the circuit can be rewritten in a more compact matrix form:
X(t) = AonX(t) + bonton(t) (3.21)
where:

[ ve(t) v, (t)
X(t) = | Vour(t) = Xx(t) = |Vou(t)

it ir(t)

_1(1, 1 __1 _1
A C \ R Ron CRon C
= 1 1
on o Co tRon B Cout Ron O
1 0
L L
1
CRon
b = | ——1
on CoutRon
0

Uon(t) = f/m sin(wt) — V,p,

This system can be transformed in a diagonal system in order to be solved more
simply.

st 00

VIALV=Acn — Aon=|0 s 0

0 0 s%
where s are the eigenvalues of the matrix A,,. Then multiplying both terms of
the equation 3.21 by VT:

VTx(t) = Aon VIX(t) + VT by tion (1)
——

—— ——
£@) £(t) Bon
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3 — Theoretical analysis

it is possible to get an equivalent diagonal system that is easier to solve:

£(t) = Aoné(t) + Bonton(t) (3.22)

Each row of this system is a first order linear differential equation that can be
solved as:

t
ZOZn(t) — &)ngin(t_to) + 68%"'5/ 6 zz TﬁzuonldT (323)
En(t) S - g
h TV
§r(®)

that is composed by a homogeneous solution £;(t), that depends on the initial
conditions

& = VTxg

plus a forced solution £(¢) that depends on the input signal. In this case the input
is:
uon(t) - Uzn<t) + ‘/on

so the corresponding forced solution becomes:

Er(t) = &5 (1) + &5 (1)

where
£ (t) = Vin K [(wcos(wto) + s sin(wt)) e 1) — (w cos(wt) + s sin(wt))]
€ (6) = Vin o [1 = 00
with:
iw
K=

Then it is needed to move back to the original state variables:

3
) => Vig"((t) k=123
=1

Vanton (1) = V&7 () 4 Via&€3" () + Vi3€3" (¢)
Vouton (1) = Var&§™(t) + Vool 3™ (t) 4 Vas&§" (1) (3.24)
i1 (1) = V5180 (t) + V3285 (1) + V3385 (1)
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3.2 — Complete circuit analysis

OFF-phase

Similarly a matrix form of the circuit equation is defined:

X(t) = Aoﬁ‘X<t) + boﬂ‘uoff(t) (325)
where:
Uc(t) Uc(t)
X(t) = Uout(t) = X(t) = Uqut<t)
Zl( ) il(t)
1 (; 1 ) 1 1
C R Roff CRoff C
Ag =
fF CoultRO r Comt Ror s 0
I 0 0
1
_CRIOff
bOH _CoutRoff
0

Uop(t) = Vi sin(wt)

Again the system is transformed in a diagonal system in order to be solved more
simply.

st 0
VIAGV =Ag — Ag= |0 5%/ 0
0 o0 s3f
where s9// are the eigenvalues of the matrix Aog. Then it is possible to get an

equivalent diagonal system that is easier to solve:

E(t) = Ao€(t) + Bosfutors(t) (3.26)

Each row of this system is a first order linear differential equation that can be
solved as:

t
é‘zoff (t) — goesiiff(tfto) + es'?szt / esfszT/Bl'uloffldT (327)
N —
€n(t) _— g
§r(t)

The solution is almost equal to the on-phase with the only difference of the forced
solution since in this case the input is just:

Uopp(t) = Vi sin(wr)

so the corresponding forced solution becomes:

t) = VinQ | (w cos(wty) + s%7 sin(wty st t=t0) _ (4 cos(wt + 897 sin(wt
f (A3 (13
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3 — Theoretical analysis

with:

Q= Biw

_ 2
w2 + S;')iff

Then it is needed to move back to the original state variables:

3
wr(t) =Y Vit I(t) k=123
j=1

Voutor (£) = V0a&r? (6) + Vials™ (8) + Viss™ (1)
Voutory = Var&iT (8) + Vol (1) + Va5 (2) (3.28)
o (1) = Ve (8) + Va5 (1) + Va5 (1)

Algorithm

It is possible to evaluate the charge of the output capacitor through a Matlab code
similarly to the simplified circuit: assuming the capacitor initially discharged, the
diode is initially OFF and the corresponding equation is used. The main difference
with respect the simplified circuit is that the expression of vy(t) is the same for
both phases:

Va(t) = Vin(t) — Vane(t) — Voue ()

The difference is in the evolution of vg,(t),v0,: and 4;(t) during each of them. Again
it is possible to evaluate numerically the time instant ¢y in which vg(t) = V,, so all
the state variable at this time instant becomes the new initial conditions for the
next phase:

/Uantstart = Uant (to)
UOUtsta'rt = UOUt (to)

Z'lstart - il (to)

From this time on the diode switched-ON and the process continue until the ca-

pacitor completely charges. The pseudocode is reported as following (appendix
A.3:
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3.2 — Complete circuit analysis

Pseudocode for PWL diode (complete)
(

Uantstart = O
1:  set initial condition: Voutayare =0
\ilsta/rt - O
2:  set initial time: totart = 0
3:  start a cycle for t = 0 to Ty, do:
(
Uantstart - UantOFF
4:  use OFF-Phase equations: Voutsrar: = Voutopp
\leta,'rt = ZZOFF
5. solve the equation: va(t) = Vo — t =1
6:  set new initial time: totart = to
4
Uantsta'rt = Uant (to)
7 set new initial condition: < Vout,ere = Vout(to)
\letart = Zl (to)
4
Uantsta'rt - UantON
8:  use ON-Phase equations: Voutarar: = Vouton
\letart = ZZON
9:  solve the equation: va(t) = Vo — t =1
10: simulation end end for

3.2.2 Shockley diode

Again, it is possible to use the Euler approach. The first step consists to define the
discrete voltages:

Uink = ’Uln(k}AT)

Vouty, = Uout(kAT>
= ’Ud(k'AT)

Udk

and defining the voltage increments as:
Avin = Uink - Uink,1

AUout = Vout, — Voutj_1

Avd = Vg, — Vdy,_,

where Awv;, is notice and Av,,; and Avg are unknown. All the current are considered
constant during each time step, so starting from the equation 3.16:

Qg = tr, + e, + s, (3.29)
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3 — Theoretical analysis

The left hand side can be written as:

Vdy,_y A Vg1 A
idk:IS(e Vi —1)25|:677Vt (14—77—5;)—1}

The right hand side becomes:

Vantj_1 Avin - AUout - A’Uai

T TR R

C
ick = E (Avm - AUout - Avd)
ilk - ilk—l

where v, Is:

Vant,_1 = Ving_1 — Udi_1 — Vouty_q

The expression 3.29 can be rewritten as:

Y1 A an 1
I, [e g (1 + ﬁ) - 1} = Dty (E + Q) (Avin — Avgus — Avg) + iy,

R AT

This result can be rewritten in order to get the increment Avgy:

%L;_l + (% + %) (Aviy — Avgur) + 1y, — I (e ilkv_tl - 1)
Avg = T
% + % + %e nvi
Calling:
1 C
"“Rfar
Yy 1 £+ L e (’l?kth

it is possible to rewrite the expression 3.30 in the more compact form:

1 1Van ] )
[ antp_1 4y (A'Um — Avout) + U, — %,

Avd:— R

The next step consists to consider the output voltage variation variation:

A/Uout

van -1 .
% +Y (szn — Avout — Avd) + Up_y = C(out‘ AT

42
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3.2 — Complete circuit analysis

By replacing the result 3.31 in this expression it is possible to get:

Vant,,_ . .
(# +YAv, + sz,1> <1 — Y%) - de—l%

Cout Y
Cowt 1Y (1 . E)

Avout = (332)

Then, once both increments are evaluated, it is possible to compute the new
value of vy, :

Vant, = Vin, — Vouty, — Ud;, = Vanty_1 + Avin - Avout - AUd

so it is possible to evaluate also the new value of i, :

. . AT
by = Uy + Tvantk (333)

So the resulting system is the following:

( Avin = Vin,, — Uing_4
,Uantkfl A . Y ; Y
A T + Y Vin + U4 1-— ?d — deilrd
Vou =
t Cout 4y (1 . X)
AT Y,
Av :i[”“”tk—l+Y(Au — D) + i~
< d Yd R n out lp_1 di_1 (334)
Vouty, = Vouty,_1 + AUout
Vg, = Vg, _, + A?)d
Vanty, = Vin;,, — Vouty, — Vdy
. . AT
\Zlk = Zlk_l + Tvantk

Again a Matlab code can be implemented to solve the system 3.34 (appendix
A 4:
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3 — Theoretical analysis

Pseudocode for Shockley diode (complete)

1: set initial condition: Vout,,_, = 0
Ve, , =0
i, =0
V1 = 0
2: start a cycle: for k = 0 to k. do:
3:  evaluate the increments: AvVout = f(Ving s Vouty_y > Vs, )

A/Ud = f(vink7 Vouty,_15 Vdp_1» Avout)
4: evaluate the nonlinear variables:  Vous, = Vout,_, + AVout

Udk = Udk—l + Al)d

Vant;, = Vin, — Vout, — Ud,
5:  evaluate the inductor current: i, = fit,_ys Vant,,)
6: simulation end: end for

3.3 Transient simulations

All the algorithms were implemented on Matlab and tested ford for many impedances.
An output capacitor not so big is used to get fast simulations. All the settings are
reported as following:

e single tone input voltage:
Vin(t) = Vi sin(27 f)
with:

~

— V=1V

— f =868 MHgz;
e R =50, 100, 150, 200 €2
e Uy =10 nF
e PWL diode with:

V=025V
— R,y =6 Q
— Royp =1 MQ

e exponential diode with:
- T=27°C — V;=25.8mV,;
— I, = 80 nA;
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3.3 — Transient simulations

—n=1.08.

The patches used are reported in table 3.1:

Squared patch (W=L)
DeSigH R Rres Lres Cres
€] (€] [PH] [PF]
50 50.152  245.153 137.140
100 100.341 490.152 68.592
150 150.719 736.685 45.637
200 200.010 980.075  34.304

Table 3.1: Patches parameters

Successively a simulator for analog circuit was used as confront for the pro-
posed algorithms. Many simulators are available. In this case the choice drops on
LTspice,va high performance simulation software produced by Linear Technology
based on a SPICE (Simulation Program with Integrated Circuit Emphasis) simu-
lation engine. This software provides useful and free design simulation tools for
analog circuit as well as device models (appendix B.1 and B.2). In figure are re-
ported the circuit schematics:

L _res

R D
245.153p

1
V_in 50 ExpDiode Jfout Rores E
SINE(0 1 868meg) 50 Expbiode l
10n V.in C res Cout
(1]
é 137.140p ;E n

.tran 0 100u 0 0.001n
.model ExpDiode D(Is=5e-8 N=1.08 XTI=0 EG=0) ran 0100u 00.01n

.model PWLDiode D(Ron=6 Roff=1meg Vfwd=0.25 Vrev=1000)
.model ExpDiode D(Is=5e-8 N=1.08 XTI=0 EG=0)

.model PWLDiode D(Ron=6 Roff=1meg Vfwd=0.25 Vrev=20)

SINE(0 1 868meg 0 0 0)

(a) Simplified circuit (b) Complete circuit

Figure 3.10: LTspice schematic

The simulator allows to choose as integration methods to solve the net equations
the modified trapezoidal and the Gear methods. Both of them were used with an
absolute tolerance of 1071 and a relative tolerance of 1078,
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3 — Theoretical analysis

3.3.1 PWL diode

In the following section are reported the transients for 50 ps of both circuit versions
evaluated by Matlab. The only uncertainty introduced is due to the precision by
which the software evaluates numerically the commutation time from a phase to
the another. It is possible to estimate the stead-state voltage:

Voutow == ‘7m - ‘/on =07V

Simplified circuit

As expected, the higher is the resistance value, the slower will be the capacitor

charge.

0.8

v, (0 V]

4 4.5 5

0 1 1
0 0.5 1 15 2 25 3 35
t[s] x107°

Figure 3.11: Transient simulation for PWL diode
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3.3 — Transient simulations

_><‘10'3

v, (0 V]

t[s] %1078

Figure 3.12: Trnsient in detail for the first 20 ns

In figure 77 it is possible to observe the difference in the charge from phase-ON
to phase-OFF in the case of R = 50 €:

3
1.4 210

12

0.8 Phase-ON

Phase-OFF

v, (O V]

0.4

0 0.5 1 15 2 25 3
t[s] %10

Figure 3.13: Difference between phase-ON and phase-OFF
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3 — Theoretical analysis

Complete circuit

Also in this case the bigger is the resistance, the slower is the transient. In figure
3.15 is shown the behaviour during the first time of the transient.

0.8

0.6
=
= 04
3
=
—50  Patch
0.2 ——100 2 Patch
150 © Patich
—200 © Patch
0 1 1 1 1 1
0 1 2 3 4 5
t [s] %107
Figure 3.14: Simulation comparison
0.02
—50 2 Patch
—100 92 Patch
0.015F 150 2 Patch
—200 £ Patch
=
= 001
3
=
0.005
0 1 1

0 05 1 15 2
t [s] %1078

Figure 3.15: Simulation comparison in detail for the first 20 ns
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3.3 — Transient simulations

An interesting observation: fixing the resistance value and the input voltage, the
circuit with the resonator shows the faster transient (figure 3.16 and 3.17).

0.8

0.7
0.6
0.5

0.4

Vot [8]

0.3

0.2

--- Parallel RLC
—Ronly

| | | | | |
0 0.5 1 1.5 2 25 3 3.5 4 4.5 5
t[s] %107

0.1

Figure 3.16: Responce differences - R = 50 2

0.7r P

05 ‘

04 B 1

Vot 8]

03+

02 [ I'
' —Ronly

0.1

--- Parallel RLC

|

1
2 25 3 3.5 4 4.5 5

0 0.5 1 1.5
t[s] %107

Figure 3.17: Responce differences - R = 200 2
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3 — Theoretical analysis

3.3.2 Shockley diode

In the following section are reported the transient for 100 ps of both circuit ver-
sion evaluated with Matlab, using Nppines = 1000. The results are successively

confronted to LTspice simulations.

Simplified circuit

As expected, the bigger is the resistance, the slower is the voltage transient. More-
over, it is interesting to notice that the transient is slower than the case of a piece-
wise linear diode by using the same parameters and the same simulation time, but

it allows to reach a higher voltage.

0.6

oY

> 04

0.2

1 | | 1 |

0 1 1 1 1
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

t [s] %107

Figure 3.18: Transient simulation for exponential diode
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8 7><‘10'3
—R=500Q
—R =100 ©

6 R =150
—R =200 Q

v, (B V]
N

| 1 | | | |

0 02 04 06 08 1 12 14 16 18 2
t[s] %108

Figure 3.19: Transient simulation for exponential diode in detail for the first 20

ns

Similarly to the piece-wise linear diode, the transient shows some steps due to
the non linearity introduced by the diode, as can be seen in figure 3.20:

7><‘10'4

v, (O V]
N

| | | | | | | |

0 02 04 06 08 1 12 14 16 18 2
t[s] %107

Figure 3.20: Non-linearity effect on the output voltage introduced by the diode

A comment on the number of points for the simulation (Npints) must be done:

o1
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choosing Npeints small implies a AT' not so small, and so the approximation will
be inaccurate, on the contrary a Npeins too big implies a very small AT and so
the number of steps required to get the solution increases, so the truncation error
increases and the solution can be perturbed. In figure 3.21 is shown the variation
on the output voltage due to the different time step used. For more than 1000
points the results are almost the same. For this reason this value was used to get
a trade-off between precision an simulation time.

0.2469
N_ .. =500
points
0.2468 | |[—N_ ;s <1000
N_. =2000
points
02467 | | Ny = 5000
=
£ 0.2466
3
>
0.2465
0.2464
0.2463 ' : J :
1.001 1.0015 1.002 1.0025 1.003

t [s] x107®

Figure 3.21: Variable number of points

In figure 3.22 is shown a comparison between Matlab and LTspice in which ¢;
(red curve) is the difference with respect the modified trapezoidal method, while e,
with respect the Gear method (blue curve). The maximum errors are reported in

table 3.2:

€1 €2
R v mv)
50 Q  1.031 2.642
100 Q 1.193 2.577
150 Q 1.319 2.616
200 Q 1.432 2.757

Table 3.2: Difference simplified circuit
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%1073 ] %107
0
0
S S
= =
T <
-2 2
-3 -3
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T T
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Figure 3.22: Differences between Matlab and LTspice

It is possible to notice that there is a consistent difference between the results
obtained by LTspice depending on the integration method used but this problem
is mainly due to the absolute and relative tolerances of the simulation. Increasing
the resolution reduces this problem but the simulation takes a longer time. The
situation is shown in figure 3.23, taking as example the case R = 50 {2:
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e(t) [V]

-151 ‘ , ‘ . .
0 0.2 0.4 0.6 0.8 1

-10¢

0 0.2 0.4 0.6 0.8 1

t[s] <107
(a) Relative tolerance of 1078

%107

t[s] x10™
(b) Relative tolerance of 10710
%107

0 0.2 0.4 0.6 0.8 1

t [s] %1074

(c) Relative tolerance of 10712

Figure 3.23: Relative tolerance impact
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€1 €2

RToll mV]  [mV]
10-8 1.031 2.642
1071 0.105 0.142
1072 0.023 0.028

Table 3.3: Difference simplified circuit

Complete circuit

Again the higher is the resistance, the slower is the voltage transient. Moreover it
is possible to notice that the resistance contribution can be seen in the first part of
the transient and then all the curves assumes almost the same slope.

—50 ) Patch

— 100 © Patich
150 €1 Patch

—200 Q Patch

0.8 1
t [s] %10

Figure 3.24: Simulation comparison - Matlab

In figure 3.25 it is possible to see more in detail the transient for the first 20 ns.
Two followings steps int this case can have a decreasing amplitude due to the
oscillation in the voltage over the resonator. This effect is well evident at the
beginning of the transient and then it reduces.
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0.025
0.02 -
< 0.015
2
>" 0.01r
—50 Q Patch
——100 Q Patch [
0.008 150 € Patch
—200 Q Patch
0 1 1 L L L | 1 1 Il I
0 0.2 04 0.6 0.8 1 1.2 14 1.6 1.8 2
t[s] %1078

Figure 3.25: Simulation comparison in detail for the first 20 ns

In figure 3.26 are reported the difference between Matlab and LTspice simula-
tions in which ¢; (red curve) is the difference with respect the modified trapezoidal
method, while e, with respect the Gear method (blue curve). From the figure it
is possible to notice that the maximum difference stands at the beginning of the
transient and then it assumes a value almost constant. The maximum differences

are reported in the table 3.4:

€1 €9
Patch mV]  [mV]
50 Q  53.117 92.513
100 53.437 94.491
150 2  53.381 94.779
200 2 53.730 94.998

Table 3.4: Difference complete circuit
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%107® %107

e(t) [V]
e(t) [V]

sh—

o 02 04 06 08 1 0 02 04 06 08 1
t[s] %107 t[s] %107
(a) 50 Q patch (b) 100 Q patch
5 %107 %107
0
s ° s
10 -10
0 02 04 06 08 1 0 02 04 06 08 1
t[s] x1074 t[s] %107
(c) 150 © patch (d) 200 Q patch

Figure 3.26: Differences between Matlab and LTspice

There are still small differences on the results obtained by LTspice, depending
on the integration method evaluated by Matlab.
Also in this case, fixing the resistance value, the voltage shows a faster transient
with a resonator instead of a resistance only, as can be seen in figure 3.27 and 3.28.
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O e 5
S 0.6
3
> 04
0.2
—Ronly
--- Parallel RLC

| | | | |

0 1 | | | 1
0 01 02 03 04 05 06 07 08 09 1
t [s] %107

Figure 3.27: Responce differences - R = 50 (2

OV

021 —Ronly
--- 200 Q Patch
0 | | | | | | | | |
O 01 02 03 04 05 06 07 08 09 1

t[s] x 107
Figure 3.28: Responce differences - R = 200 €2

3.3.3 Q variation

The quality factor defines the qualitative behaviour of a simple damped oscillators.
Phisycally speaking it is proportional to the total energy stored divided by the
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energy lost in a single cycle:

Energy stored

7'[' .
Energy dissipated per cycle

In the case of a parallel RLC resonator it can be expressed as:

Q=R

WOL

(3.35)

(3.36)

The quality factors of the used patches are reported in table 3.5. It is important
to underline that they are evaluated considering the resonator only and not the rest

of the circuit.

Design R

) «

50 37.5103
100 37.5361
150 37.5134
200 37.4191

Table 3.5: Patches quality factor

To better understand how the quality factor impact on the charge a resistance
value of 200 2 was fixed and then the quality factor swept from 10 to 50 (varying
L and C), accordingly on the order of magnitude of the results. It points out that
the higher is the quality factor, the faster is the charge. The main difference can
be noticed mainly during the step of the first period (figure 3.29). The limit case

of a resistance only shows the slowest charge.
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7><‘10'3

>
3
>
2 —Q=30]"
1h — Q=40
—Q=50

1 1 L
0.8 1 12 14 16 18 2
t[s] %1078

0 0.2 0.4 0.6

Figure 3.29: Quality factor impact on v, (t) (R = 200 )

An interesting fact is that except for the first steps, the all the responses with a
resonator have almost the same time constant and they increase in the same way,
while the case with the resistance only is quite slower, as can be seen better in

figure 3.30.

0.025

—Ronly

0.02

0.015

v, (0 V]

0.01

0.005

1 1 | |

1 | 1 1

0 1
0 01 02 03 04 05 06 07 08 09 1
t[s] %107’

Figure 3.30: Transient for the first 100 ns (R = 200 Q)
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3.4 Steady state conditions

In the case of the diode with a Shockley characteristic it is possible to estimate
the output voltage in steady state starting by making some simplifications starting
from the system 3.15:

1. at the end of the transient v, (t) can be considered almost constant, so: In
this way the system can be simplified as:

~ __ 00
voutk — Uautk_l - Uout \V/ k

2. since v, (t) is almost constant the current i4(t) becomes negligible;

3. starting from the previous assumptions it is possible to simplify the expression

of vg,:

[e.e]

m — . R—
Uy, = Ving, — Vout = Vdp_y = Ving_, Uout

4. v°, becomes comparable to the amplitude Vin SO Vg, < 0 for most of the period

T and during the positive time it has a negligible amplitude. In this way it is
possible to simplify all the exponential terms:

Y1
e nVi ~ O

Consequently it is possible to rewrite the expression 3.14 as:

Vin —p>®
Ving, — Viny,_ kL __out ISAZ
AUy ™ [(M 1)le % -1

C'out

3.37
nVi (3:37)

Considering that during each period the initial and the final value assumed by
Uout,, are equal means that:

Np
g Avoutk =0
=1

So the expression 3.37 can be rewritten as:

N, ) 00
ISAT - ing — Ving Ying—1 Cout
.Z[(MH)G Vi —1] =0

Oout =1 n‘/;

This step means that during each period the voltage over the capacitor increases
due to the input signal, but this increment is equal and opposite to the discharge
due to the reverse current saturation I, of the diode. In the transient the charging
phase is higher and so the voltage increases. Simplifying this result:

v,

—& all Vin, — Uin, Yini_1
e nVi E Tk el 4 1 )e i = Np
Pt nVi
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By solving this equation it is possible to get the following result:

N, Vin,
- 1 <= [ Vin, — Vin,_ Uini—y
Vout = T]‘/;i In Np E (—k 77‘/2 : + ]-> e MV ] (338)
k=1

It immediately points out that, at first approximation, the voltage in steady state
voe, depends just on the diode and the amplitude on the input signal. This result is
an upper limit of the maximum voltage that can be reached. The real value will be
less because of the strong approximation used. In figure 3.31 is reported the value
of v>7, evaluated by Matlab starting from the result 3.38 for a variable number of

points N,,:

0.9265

0.926
S 0.9255
83
>

0.925

0.9245

102 103 104

points
Figure 3.31: Relation between v3;, and N, - Case Vin=1V

It points out that for NV, > 1000 the value of v37, is almost constant. In particular
for, taking as reference N, = 1000:

voo, = 924.476 mV

out

In order to check this result, the algorithm previously used has been tested for 5
periods for R = 50 2 and by using as initial conditions:

_ 00
Vouty,_1 = Vout

o0

= “Vout

Vdj,_y

The result is shown if figure 3.32:
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0.924475851

0.92447585

0.924475849

0.924475848 -

0.924475847

0.924475846

0.924475845 : : : : : ‘ : ‘ : '
o 05 1 15 2 25 3 35 4 45 5

vT

Figure 3.32: Steady state results obtained with Matlab

In order to evaluate the correctness of the results, the difference between the
initial value, that is v2%,, and the final value at each period was computed. As
expected this error is different from zero and it has a monotonic behaviour (figure
3.33). This means that the voltage considered is too high and so in the output
capacitor the discharging phase prevails with respect the charging one. On the
contrary, by using a smaller v$;,, this error increases since the capacitor charges.

x10°M1

0 0.5 1 1.5 2 25 3 3.5 4 4.5 5

periods
Figure 3.33: v, — Voue(N - T)

After many iterations it points out that the correct value of v>°, that gives a null

out
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error 1s:

v, = 924.441 mV

In the table 3.6 are reported the different values of the steady state voltage in
function of the resistance. As expected the higher is the resistance, the smaller is
the output voltage since less current can pass.

R vo,
(€]  [mV]
50  924.441
100 924.417
150  924.393
200 924.369

Table 3.6: v°°, for different values of R

out

making similar approximations also in the circuit completed leads to the same
result.

3.4.1 AWR comparison

LTspice performs time domain simulations and it is not able to detect the cir-
cuit steady state conditions. To this purpose a software that perform a frequency
domain simulation for the circuit analysis must be used. A good choice is AWR
Microwave Office, a software that can be used to create integrated systems, RF
or analog circuits. Microwave office is the environment used to design circuits
composed of schematics and electromagnetic structures taken from a database. A
feature of this software particularly useful for this kind of simulation is the possi-
bility to simulate the circuit by using as simulation engine the APLAC Harmonic
Balance, that is a frequency domain method used to detect the steady state condi-
tions. The circuit is reported in figure 3.34:
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V_PROBE R1=50 V_PROBE DIODE1 V_PROBE
ID=V_i ID=V_out_1  1D=DA1 ID=V_out
RES |_METER Nu=1.08

ID=R ID=AMP1 T=27 DegC

R=R1 Ohm lo=5e-8 A
i, [~
171
ACVS
:,E:“; y SWPVAR —L— cap
A De ID=SWP1 ID=C1
Offaat=0 VarName="R1" —— C=10nF
DCVal=0 V Values=swpstp(0.200.50)
UnitType=None

Figure 3.34: Circuit with resistance sweep

For the simulation the following settings has been used:

Tone 1 Harmonics: 100;

TAUDC : 0;

HB Matrix Solver: Sparse;

Integration Method: Euler;

Small Resistor Limit RO : 0;

Relative Error: 1078%;

Absolute Error: 10719,

Maximum Relative Truncation Error: 1078,

For the simulations the same resistances already considered was used plus R =
0 , that simulates a short circuit. The results are reported in figure 3.35:
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0.92446 |
—R=0Q
0.92444 | —R =500
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=
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>
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Figure 3.35: AWR results

In the table 3.7 are reported the voltage estimated by Matlab and AWR, the
absolute error €, and the relative error €, (in percentage) defined as:

1,00 0o
€abs = ‘UOUtJWatlab - UOUtAWRl
o0 o
v - |
out out
erel — Matlab AWR' | 100

,UggtMatlab’

It is possible to notice that the absolute error is almost constant (~ 13 pV) for
each resistance. So the solution is almost the same but shifted and this difference
may be due to the numerical methods used by AWR, different model, particular
settings, finite precision of computation and so on.

R /ngtMatlab /ngtAWR EabS ET’EZ
]  [mV]  [mV]  [nV] (%]

50  924.441 924.427 13.767 1.489229 1073
100 924417 924403 13.629 1.473991-1073
150  924.393  924.379 13.473 1.457495-1073
200 924369 924.356 13.309 1.439745-1073

Table 3.7: Comparison between Matlab and AWR

In conclusion, the value of vg, obtained with Matlab script is used as reference
for the following discussions.

66



3.5 — Analytic approximation

3.5 Analytic approximation

Another step consists to find an approximate analytic solution for the exponential
case in order to roughly estimate the charge time required to reach percentage of
voe,. By looking at the simulations, it is possible to notice that the contribution
of the resistance in the transients act just at the beginning, while, for long times,
in which v,,(t) increases very slow, and all the behaviours converge on the same
curve, independently on the value of R. This means that for very long time the
resistance acts a negligible effect. So the following hypotheses are valid in the time

discrete domain:
e R—=0 = g Vi, — Vout,
o AUout — 0 = Vout, == Vouty,_1 = Vout

So starting from the discrete result 3.14, by using the previous assumption and
neglecting the denominator, it is possible to get the following result:

Vin, — Vin Jing—y —Yout I,AT
Aty = KuH)e e

Oout

nV;

The next step consist to consider the sum over a period in order to simplify the
term that depends on the on the index k:

N, N, ) _
P _[ AT P Vs — ’Uznk71 Vout
AUOU — i . M + 1) e 7’)% J— 1
; t Caut Z [( 77‘/;5

k=1

Assuming Avgy, =~ const — Awv,,, this expression can be simplified as:

N .
[SAT _Yout ] z Vin, — Ui Dimk—1
Avout = C ) e Vi F Z (% + 1) e ™t — ]_] (339)
ou P k=1
considering that:
N, Vi [e%e)
1 2 (Uznk - Ui?’Lk 1 ) —an71 M
— —r _"Fl 4 ])e Vi =enVi
Ny ; nVi
so the result 3.39 can be rewritten as:
IAT ([ Yow_tou
Avgyt = o (e A 1) (3.40)
out
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Then, considering a sufficient small time step, both Av,,; and AT can be replaced
by infinitesimal increments:

AT — dt
AUout — dvout

in this way the result 3.40 becomes a separable variables differential equation:

1 I
————dugy = dt 3.41
/ Vout —Vout v t / Cout ( )

e M —1

By solving this differential equation:
Vout(t) = v, + 1V, - In [1 _ Tt A] (3.42)

The particular solution of this differential equation may be found by imposing an
initial condition:

Is
Vout(t) = vo0, +nVy - In [l—e_Wt~A]
{ o(t) = vou Vi (3.43)
Vout (tO) = Vouty
By fixing v,,:(0) = 0 it is possible to solve the Cauchy problem:
VCoxo
Vout(0) =050, + Vi -In[l —A] =0 = A=1-—e "%
So the complete solution becomes:
Vour(t) = 0%, + 1V - In {1 _ e wiet. (1 T )] (3.44)

From this result it is possible to estimate the time ¢, required to reach a per-
centage p of v,

Is . _Yout
Vout (tp) = D * Vguy = Vouy + Vi In [1 — ¢ Wil . (1 —e M )1

By solving this equation:

n‘/lfcout 11— e_ﬁ
t, = 7 -In (=)o, (3.45)

l—e 7%

In figure 3.36 it shown a comparison between the analytic solution and the
discrete solution of the simplified circuit for 0.5 ms:
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>
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Figure 3.36: Comparison between Euler solution and Analytic solution

It is important to notice that this result is valid just for a time sufficiently high.
At the beginning it well evident the difference due to the resistance.

From this result 2 considerations can be done:

e fixing the value of C,y, t, depends on the value of v,y so on the amplitude
of the input voltage V;,,. This relation is shown in figure 3.37:
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Figure 3.37: t, for different values of Vin (Cour = 10 nF)

e with a fixed value of ‘A/m, t, depends linearly on the value of C,,; (figure 3.38).
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Figure 3.38: t, for different values of C,yt (Vi =1 V)

This result is more accurate for low values of the input voltage, since the ap-
proximation at the denominator is valid in that cases.
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Chapter 4

Measurements

Two circuit were realized and tested together with an energy harvesting circuit
already present on the market in the anechoic chamber of the Poitecnico di Torino.
The anechoic chamber chamber is a laboratory environment that prevent the reflec-
tion. In this way it allows to recreate in a closed space a simulated open space of
infinite size useful to perform high precision measurements. In figure 4.1 is reported
the schematic used for the measurement:

A
Y

TX antenna

RF il

generator

Meas.
system Circuit to test

Figure 4.1: Measurement schematic

The main components are:

e the RF generator, a 83650L Synthesized Swept-CW Generator of HP (figure
4.3a);
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e the measurements system, that consists in a computer connected throw a GPIB
line to a digital multimeter, the Agilent 34401A (figure 4.3b). In this way the
measurements could be controlled directly by the computer;

e the transmitting antenna, a horn antenna (figure 4.3c);

e the circuit to test, the powercast in this case (figure 4.3d).

The complete setup is reported in figure 4.2:

SN
SR N

Ny
SN

N

N

Figure 4.2: Measurement setup
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4.0.1 Powercast P2110B

The Lifetime Power®) Energy Harvesting Development Kit for Wireless Sensors
is a demonstrative platform for creating battery-free wireless sensor applications
powered by RF energy (radio waves). It is designed and configured for extremely
low power operation optimized for a RF energy at 915 MHz.

Figure 4.4: Lifetime Power®) Energy Harvesting Development Kit

The kit (figure 4.4) includes an RF transmitter, RF energy harvesting receiver
boards, two and antennas (a dipole and a patch of 50 ), a wireless sensor boards,
a PIC®) MCU-based development board and radio and a programming tool. Just
the receiver board was used (figure 4.5).
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P2110-EVB
P2110 Evaluation Board

.; o __-.....__C;i

Receiving Antennas
Dipole and Patch

Figure 4.5: P2110B receiver

The receiver features are the following:

e receives power and data;

e converts RF to DC power and stores it in a capacitor;
e Charge / Power management unit;

e /0 interface.

The schematic is reported in figure 4.6.

NC
NC
NC
Veap

Boaost 12

REu - RF to DC Converter Vour
Converter "
VsET

Voltage i:]: INT
Monitor o RESET

-
LA

|

GND
GND
GND
DUUT
Dser

Figure 4.6: Powercast functional block diagram
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The circuit offers the possibility to choose between 3 different capacitors by
changing the position of a pin:

L] Cg =1mF
e C; =1F (supercap - user selectable)

.C5Z5OII1F

When the capacitor voltage Voap reaches a threshold, the the P2110B boosts the
voltage to the set output voltage level and enables the voltage output (Voyr). In
this phase the Vo4p decreases, and when it declines to the low voltage threshold
the voltage output is turned off and so the capacitor charges again. The situation
is explained is figure 4.7:

Figure 4.7: Powercast timing diagram

The datasheet states that Voap can reach values from 1.02 V to 1.25 V with
a maximum input power of 23 dBm. The attention is focused on the time t.parge
required to charge the capacitor up to Viyax starting from 0 V, using both the
antennas present in the kit.

4.0.2 Results

For the measurements the transmitting antenna was used to radiate a signal of
20 dBm with a frequency of 915 MHz to the powercast, placed a at a distance
r = 1.5 m from it. The measurement system was set to measure the voltage from
the proper terminal of the powercast every second. In the table 4.1 are reported
the charge time for the different capacitance values, using the both antennas of the
kit.
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Capacitance  Patch Dipole

C=1mF 9s 31ls
C =50 mF 5 min 15 min
C=1F 140 min 458 min

Table 4.1: Charge time

It was not possible to measure the steady state output voltage rectifier since the
circuit stops the charge when the capacitor voltage reaches the threshold. Using
the patch is is possible to reach the maximum voltage approximately in a third of
the time it would take using the dipole, for all the output capacitor. This result
can be expected since the patch has an higher gain and so a higher input voltage.
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4.1 Circuit implementation

A half-wave rectifier and a single stage voltage multiplier were realized in the ISMB.
The schematics with all the components are reported in figure 4.9 and 4.10:

PAN

—— 100 pF

HSMS286C

SMA @—{ dl-l ® Uout

—__— 15pF T”"— 22nF

N N

Figure 4.9: Half-wave rectifier schematic

100 pF HSMS286C
| —
SMA | {>J-‘7 Vout
HSMS286C /\ —— 100 pF
~ ~

Figure 4.10: Single stage voltage multiplier schematic

The presence of 3 capacitors with different capacities in the first circuit is due to
the fact that each capacitor must deal with different frequency components. The
final results are shown in figure 4.11:

79



4 — Measurements

(a) Half wave rectifier (b) Single stage voltage multiplier

Figure 4.11: Circuit prototypes

Both circuits were tested with and without load, using a sinusoidal input voltage
with an amplitude of 0.5 V and a frequency of 10 MHz (approximately two decades
below the interested frequencies). All the measurements are reported in table 4.2:

. . Vout Z.out
Circuit Load mV] A

R=12Q 270 22
No load 450 0
R=12Q 500 41.6
No load 930 0

Half wave rectifier

Single stage voltage mult.

Table 4.2: Prototypes meas

Successively they were connected the antennas of the powercast kit and placed
inside the anechoic chamber to measure the output voltage in no load conditions
placing the circuit at different distances from the transmitting antenna, that was
used to radiate in the same conditions as the powercast (figure 4.12).

80



4.1 — Circuit implementation

Figure 4.12: Half-wave rectifier connected to the patch antenna

The results are reported in table 4.3 and 4.4 and in figure 4.13b:

Patch  Dipole
Distance Vout Vout
m]  [mV]  [mV]
0.5 524.617 322.721
1 211.689 135.198
1.5 63.325  15.389
2 42.034 8.089

Table 4.3: v,,; measurements - half-wave rectifier

Patch  Dipole

Distance Vout Vout
m] V] [mV]
0.5 221.054 117.511

1 52.270 6.401
1.5 7.332 0.144
2 2.153 0.102

Table 4.4: v,,; measurements - single stage voltage multiplier
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4 — Measurements

As expected, the half wave rectifier shows better performances with respect the

single stage voltage multiplier. This can be imputed a lower reflected power and
less voltage drop on the circuit components. The patch allows again the get a
higher output voltage.
The datasheet of the powercast states that the patch has s resistance of 50 2.
Knowing this value and using all the hypotheses of chapter 2.1.1 it was possible to
estimate the maximum input voltage and so the steady state output voltage from
the rectifier, using the expression 3.38. In figure 4.13a it is possible to confront the
difference between the theoretical output voltage and the measured one. The real
value is below the theoretical one due to losses in the circuit and reflections. This
is more evident for higher distances.

0.6 <
K —Theoretical
AN - -Measured
— 0.4
‘g
> 0.2
0 1
0.5 1 1.5 2
r[m]
(a) Comparison between circuits
0.6

—Half-wave rectifier - patch

—Half-wave rectifier - dipole
— 04 Voltage multiplier - patch
—Voltage multiplier - dipole

3
> 0.2
0
0.5 1 15 2

r[m]

(b) Comparison between circuits

Successively the half-wave rectifier was connected to a signal generator and sup-
plied with a sinusoidal input signal with an amplitude of 1 V' and a frequency of
868 MHz. In this condition an output voltage of 0.8765 V mas measured from the
output terminals,that is below the theoretical 0.924 V derived in similar conditions
in chapter . Then the circuit was used to charge a capacitor of 470 pF.
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4.1 — Circuit implementation

Figure 4.14: Measurements

In order to reach the 0.871 V' (~ 99% of the charge) it takes an hour. The
transient is shown in figure 4.15:

T

0.8

0.6

OV

>° 04+

T

0.2

0 10 20 30 40 50 60
t [min]

Figure 4.15: Output voltage transient
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Chapter 5
Conclusions and perspectives

The purpose of this thesis was to understand the impact of the antenna impedance
on the charge of the output capacitor of a rectenna.

In chapter 2.1 it was estimated an equivalent circuit of the patch antenna. It
is discovered that the maximum input voltage depends on the distance from the
source and the radiation resistance.

From the simulations of chapter 3.3 it can be notice that:

e the transient in the circuit with a resonator;

e considering many input impedances with the same quality factor, the charge
is faster when the resistance is low;

e considering the same input resistance, the higher is the antenna quality factor
the faster is the charge. The limit case of a resistance only shows the slowest
charge;

e the steady state conditions depends mainly on the diode.

In general an antenna with an input impedance is a better choice since it allows to
get a higher steady state voltage at the expense of greater charge time.
From the measurements of chapter 4.1 the following conclusions can be done:

e the half-wave rectifier shows a higher output voltage than the single stage volt-
age multiplier using both the patch and the dipole. This result is in agreement
with the discussion of chapter 2.2;

e connecting the patch to the half-wave rectifier, the real output voltage is lower
than the theoretical expectations since the model does not consider any losses.
This is more evident for higher distances.

From these preliminary results the radiation resistance is able to affects the
output voltage. Future work will focus on:
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5 — Conclusions and perspectives

a more complex model capable to take into account all the parameters present
in the circuit, like the diode and the capacitor;

the impact of a matching circuit on the output voltage;
more analysis using different kind of antennas;

use this rectenna to charge a big capacitor or other circuits in a energy har-
vesting environment.
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Appendix A

Matlab Codes

Al

Simplified circuit

Listing A.1: Algorithm 1

clear all
close all

clc

yA

% Inputs

Vin = 1; % [V]
R = 50; % [ohm]
Cout = 10e-9; % [F]

f 868¢e6 ; % [Hz]
T_sim = 1e-6; % [s]
Ron = 6; % [ohm]
Roff = 1e6; % [ohm]
Von = 0.26; % L[V]

yA

%» Initial settings

omega = 2%pixf;

T = 1/f;

DT = T/100;

tau_on = Cout*x(Ron+R);
tau_off = Cout*x(Roff+R);
vout = [];

t = [];

t_prev 0;

t_next = 0;

h

input voltage amplitude

- antenna resistance

output capacitor

input frequency

simulation time

- diode Phase-0N resistance
- diode Phase-0FF resistance
Forward threshold voltage
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A — Matlab Codes

% Initial conditions

vout_0 = 0;

T

V_i = @(t) Vin*sin(omegax*t);
tSimul = tic;

h

% Main code
while (t_next<T_sim)

b

%» OFF-Phase

t_prev = t_next;

Vout = @(t) vout_Ox*exp((t_prev - t)/tau_off) + Vin
/(tau_off*(omega~2 + 1/tau_off~"2))*(exp((t_prev -
t)/tau_off)*(omega*cos(omega*xt_prev) + sin(omegax

t_prev)/tau_off) - (omega*cos(omega*t) + sin(omega
xt)/tau_off));
v_d = @(t) (V_i(t) - Vout(t))*Roff/(R+Roff) - Von
yA
t_inf = t_prev + DT;
cond = 1;
t_sup = t_inf;
while cond >0
t_sup = t_sup + DT;
cond = V_d(t_sup)*V_d(t_inf);
end
t_next = fzero(V_d,[t_inf t_supl);
vout_0 = Vout(t_next);
t_int = linspace(t_prev,t_next ,20);

for indl = 1:length(t_int)
v(indl) = Vout(t_int(indl));

end

vout = [vout v];

t = [t t_int];

b

% ON-Phase

t_prev = t_next;

Vout = @(t) vout_Oxexp((t_prev - t)/tau_on) + Von

*(exp((t_prev - t)/tau_on) - 1) + Vin/(tau_on*(
omega~2 + 1/tau_on~2))*(exp((t_prev - t)/tau_on)*(
omegaxcos (omega*t_prev) + sin(omega*t_prev)/tau_on
) - (omegax*cos(omega*t) + sin(omegaxt)/tau_on));
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A.1 - Simplified circuit

V_d = @(t) (V_i(t) - Vout(t)- Von)*Ron/(R+Ron);
yA
t_inf = t_prev + DT;
cond = 1;
t_sup = t_inf;
while cond >0
t_sup = t_sup + DT;
cond = V_d(t_sup)*V_d(t_inf);
end
t_next = fzero(V_d,[t_inf t_supl);
vout_0 = Vout(t_next);
t_int = linspace(t_prev,t_next ,20);

for indl = 1:length(t_int)
v(indl) = Vout(t_int (indl));

end
vout = [vout v];
t = [t t_int];
end
yA
tSimulTot = toc(tSimul) ;
yA

% Picture

figure, hold on

plot (t,vout) ;

xlabel ('t [s]');

ylabel ('v_{out}(t) [V]');
grid on

Listing A.2: Algorithm 2

clear all
close all

clc

b

% Constants

kb = 1.38064852e-23; % [m~"2 kg s~ (-2) K~ (-1)]
q = 1.60217662e-19; % [C]

b

% Inputs

v_i = 1; % L[V] - input voltage amplitude
R = 50; % [ohm] - antenna resistance
Cout = 10e-9; % [F] - output capacitor

f = 868e6; % [Hz] - input frequency
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A — Matlab Codes

n = 1.08; % Diode emission coefficient
T_rel = 27; % [Celsius] - temperature
Is = be-8; % [A] - reverse saturation current
T_sim = 1le-6; % [s] - simulation time
Npts = 1000; %» Number of points per period
yA
%» Initial settings
T_abs = 273.15 + T_rel;
vt = kb*T_abs/q;
nvt = n*xvt;
T 1/f;
omega = 2x*pixf;
N_periods = floor(T_sim/T);
t = linspace(0,N_periods,N_periods)*T;
DT = T/Npts;
k1 = (Is*DT/Cout) ;
k2 = (Is*R/nvt);
k3 = DT/(R*xCout) ;
k4 = RxIs;
yA
% Initial conditions
vout = zeros (1,N_periods);
vd_new = 0;
vout_new 0;
yA
%» Temporal variables
vd_old 0;
vout_old = 0;
yA
tSimul = tic;
yA
% Main code
for ind2 = 2:N_periods
for indl =1 Npts
k5 = exp(vd_old/nvt);
vin = v_i*sin(omega*DT*ind1l) ;
yA
Dvout = k1*(((vin-vout_old-vd_old)/nvt+1)*k5-1)

/ (1+k2*k5* (1+k3)) ;

(vin vd_old
-1)) /(1 + k2xkb5);

vout_new vout_old + Dvout;

Dvd

vout_old Dvout -k4x* (k5
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A.1 - Simplified circuit

vd_new = vd_old + Dvd;
pA
vout_old = vout_new,;
vd_old = vd_new;

end

vout (ind2) = vout_new;

end

b

tSimulTot = toc(tSimul) ;

yA

% Picture

figure, hold on

plot (t,vout);

xlabel ('t [s]');

ylabel ('v_{out}(t) [V]');
grid on

A.1.1 Complete circuit

Listing A.3: Algorithm 3

clear all
close all

clc

b

% Inputs

Vin = 1; % [V] - input voltage amplitude

R = 50; % [ohm] - patch resistance

L = 245.153e-12;% [H] - patch inductance

C = 137.140e-12;% [F] - patch capacitance

Cout = 10e-9; % [F] - output capacitor

f = 868e6; % [Hz] - input frequency

T_sim = 10e-9; % [s] - simulation time

Ron = 6; % [ohm] - diode Phase-0N resistance
Roff = 1le6; % [ohm] - diode Phase-0FF resistance
Von = 0.26; % [V] - Forward threshold voltage
b

» Initial settings

omega = 2xpixf;

T = 1/f;

DT = T/100;

vout = [];
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A — Matlab Codes

t = [1;

t_0 = 0;

t_1 = 0;

T

%» ON-Phase system

A_on = [-1/C*x(1/R + 1/Ron),-1/(C*xRon) ,-1/C;-1/(Cout*

Ron) ,-1/(Cout*Ron) ,0;1/L 0 0] ;
b_on = [1/(C*xRon) ;1/(Cout*Ron) ;0];
[V_on, S_on] = eig(A_on);
s_on = diag(S_on);
beta_on = V_on\b_on;
yA
%» OFF-Phase system
A_off = [-1/C*(1/R + 1/Roff),-1/(CxRoff) ,-1/C;-1/(Coutx*

Roff) ,-1/(Cout*Roff) ,0;1/L 0 0] ;
b_off = [1/(C*xRoff);1/(Cout*Roff) ;0];
[V_off, S_offl=eig(A_off);
s_off = diag(S_off);
beta_off = V_off\b_off;

% Initial conditions

vc_0 = 0;

vout_0 = 0;

il_0 = 0;

x0 = [vc_O;vout_0;il1_01];
yA

V_i = @(t) Vin*sin(omegaxt);
tSimul = tic;

YA
% Main code
while(t_1<T_sim)

yA
% OFF-Phase
t_ 0 = t_1;

x0 = [vc_0O;vout_0;il_01];

xi0 = V_off\x0;

b

xi_1_forced = @(t) Vinx*(beta_off(1)/(s_off(1)"2 +
omega~2))*((omega*cos(omega*xt_0)+ s_off (1)*sin(
omega*t_0))*exp(s_off (1)*(t-t_0)) - omegax*cos(
omegax*t)- s_off (1)*sin(omegaxt));
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A.1 - Simplified circuit

xi_2_forced = @(t) Vinx*(beta_off (2)/(s_off(2)"2 +
omega~2))*((omega*cos(omega*xt_0)+ s_off (2)*sin(
omega*t_0))*exp(s_off (2)*x(t-t_0)) - omegax*cos(
omegax*t)- s_off (2)*sin(omegaxt));

xi_3_forced = @(t) Vinx*(beta_off(3)/(s_off(3)"2 +
omega~2))*((omega*cos(omega*xt_0)+ s_off (3)*sin(
omega*t_0))*exp(s_off (3)*x(t-t_0)) - omegax*cos(
omega*t)- s_off (3)*sin(omegaxt));

b

xi_1_homo = @(t) (xi0(1))*exp(s_off (1)*x(t-t_0));

xi_2_homo Q(t) (xi0(2))*exp(s_off (2)*x(t-t_0));

xi_3_homo Q(t) (xi0(3))*xexp(s_off (3)*x(t-t_0));

b

xi_1 = 0(t) =xi_1_forced(t) + xi_1_homo(t);

xi_2 = @(t) xi_2_forced(t) + xi_2_homo(t);

xi_3 = @(t) xi_3_forced(t) + xi_3_homo (t);

yA

x1 = 0(t) real(V_off(1,1)*xxi_1(t) + V_off(1,2)*xi_2
(t) + V_off(1,3)*xi_3(t));

x2 = 0(t) real(V_off(2,1)*xxi_1(t) + V_off(2,2)*xi_2
(t) + V_off(2,3)*xi_3(t));

x3 = 0(t) real(V_off(3,1)*xxi_1(t) + V_off(3,2)*xi_2
(t) + V_off(3,3)*xi_3(t));

v_d = @(t) V_i(t) - x1(t) - x2(t) - Von;

yA

t_inf = t_0 + DT;

cond = 1;

t_sup = t_inf;

while cond >0
t_sup = t_sup + DT;

cond = V_d(t_sup)*V_d(t_inf);
end
t_1 = fzero(V_d,[t_inf t_supl);
vc_0 = x1(t_1);
vout_0 = x2(t_1);
il1_0 = x3(t_1);

t_int = linspace(t_0,t_1,20);

for indl = 1:length(t_int)
v(indl) = x2(t_int(indl));

end

vout = [vout v];

t = [t t_int];
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A — Matlab Codes

b

% ON-Phase

t_0 = t_1;

x0 = [vc_O;vout_0;il1_01;

xi0 = V_on\x0;

b

xi_1_forced = @(t) Vinx*(beta_on(1l)/(s_on(1l)"2 + omega
"2))*x((omegax*xcos (omega*xt_0)+ s_on(1l)*sin(omega*t_0
))*exp(s_on(1)*(t-t_0)) - omegax*xcos(omega*t)- s_on
(1)*sin(omega*t)) + Von*beta_on(l)*(l-exp(s_on(1l)
*(t-t_0)))/s_on(1);

xi_2_forced = @(t) Vinx*(beta_on(2)/(s_on(2)"2 + omega
"2))*x((omegax*cos (omega*xt_0)+ s_on(2)*sin(omega*t_0
))*exp(s_on(2)*(t-t_0)) - omegax*xcos (omega*t)- s_on
(2)*sin(omega*t)) + Von*beta_on(2)*(l-exp(s_on(2)
*(t-t_0)))/s_on(2);

xi_3_forced = @(t) Vinx*(beta_on(3)/(s_on(3)"2 + omega
"2))*x((omegax*cos (omega*xt_0)+ s_on(3)*sin(omega*xt_0
))*exp(s_on(3)*x(t-t_0)) - omegax*xcos(omega*t)- s_on
(3)*sin(omega*t)) + Von*beta_on(3)*(l-exp(s_on(3)
*(t-t_0)))/s_on(3);

b

xi_1_homo = @(t) (xi0(1))*exp(s_on(1)*(t-t_0));

xi_2_homo Q(t) (xi0(2))*exp(s_on(2)*(t-t_0));

xi_3_homo @(t) (xi0(3))*xexp(s_on(3)*(t-t_0));

b

xi_1 = @(t) xi_1_forced(t) + xi_1_homo(t);

xi_2 = 0(t) xi_2_forced(t) + xi_2_homo(t);

xi_3 = @(t) xi_3_forced(t) + xi_3_homo(t);

yA

x1 = 0(t) real(V_on(1l,1)*xxi_1(t) + V_on(1,2)*xi_2(t
) + V_on(1,3)*xxi_3(t));

x2 = 0(t) real(V_on(2,1)*xi_1(t) + V_on(2,2)*xi_2(t
) + V_on(2,3)*xi_3(t));

x3 = @(t) real(V_on(3,1)*xxi_1(t) + V_on(3,2)*xi_2(t
) + V_on(3,3)*xxi_3(t));

yA

v_d = 0(t) V_i(t) - x1(t) - x2(t) - Von;

t_inf = t_0 + DT;

cond = 1;

t_sup = t_inf;

while cond >0
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A.1 - Simplified circuit

t_sup = t_sup + DT;

cond = V_d(t_sup)*V_d(t_inf);
end
t_1 = fzero(V_d,[t_inf t_supl);
ve_0 = x1(t_1);
vout_0 = x2(t_1);
il_0 = x3(t_1);

t_int = linspace(t_0,t_1,20);
for indl = 1:length(t_int)
v(indl) = x2(t_int(ind1l));

end

vout = [vout v];

t = [t t_int];
end
tSimulTot = toc(tSimul);
yA

% Picture

figure, hold on

plot (t,vout);

xlabel ('t [s]');

ylabel ('v_{out}(t) [V]"');
grid on

Listing A.4: Algorithm 4

clear all
close all

clc

b

% Constants

kb = 1.38064852e-23; %h [m~"2 kg s~ (-2) K~ (-1)]
q = 1.60217662e-19; % [C]

b

% Inputs

v_i = 1; % [V] - input voltage amplitude
R = 50; % [ohm] - patch resistance

L = 245.153e-12;7, [H] - patch inductance

C = 137.140e-12;% [F] - patch capacitance

Cout = 10e-9; % [F] - output capacitor

f = 868e6; %» [Hz] - input frequency

n = 1.08; % Diode emission coefficient
T_rel = 27, % [Celsius] - temperature

Is = be-8; % [A] - reverse saturation current
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A — Matlab Codes

T_sim = 1le-6; % [s] - simulation time
Npts 1000; % Number of points per period
b

% Initial settings

T_abs = 273.15 + T_rel;
vt = kb*xT_abs/q;

nvt = n*xvt;

T = 1/f;

omega = 2*pixf;
N_periods = floor(T_sim/T);
t = linspace(0,N_periods,N_periods)*T;
DT = T/Npts;

Y_res = 1/R + C/DT;

k1 = Is/nvt;

k2 = 1/R;

k3 = Cout/DT;

k4 = DT/L;

kb6 = C/DT;

b

%» Temporal variables
vd_old = 0;
vout_old = 0;

% Initial conditions

il_o = 0;
vCc_o = 0;
id_o = 0;
vout = zeros (1,N_periods);

To

tSimul = tic;

To

for ind2 = 2:N_periods
T
for indl = 1:Npts
To

vin = v_i*sin(omega*(DTxindl));

vin_end = v_i*sin(omega*(DT*(ind1-1)));

Dvin = vin - vin_end;

yA

Yd = Y_res + klxexp(vd_old/nvt);

Dvout = ((vc_o*k2 + Dvin*Y_res + il_o)*(1-Y_res/Yd

Y+(Y_res/Yd)*id_o )/(k3 +Y_res*(1-Y_res/Yd));
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A.1 - Simplified circuit

Dvd = (vc_o*k2 - id_o + Y_res*x(Dvin-Dvout) +
il_o)/Yd;
vd_new = vd_old + Dvd;
vout_new = vout_old + Dvout;
vVC_o = vin - vd_new - vout_new ;
yA
vd_old = vd_new;
vout_old = vout_new;
il_o = vc_oxk4d + il_o;
id_o = Isx(exp(vd_old/nvt)-1);
end
yA
vout (ind2) = vout_new;
pA
end

tSimulTot = toc(tSimul);
yA

% Picture

figure, hold all;

plot (t,vout);

ylabel ('v_{out}(t) [V]');
xlabel ('t [s]');

grid on;
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Appendix B

LTspice device models

B.1 Diode model

There are two types of diodes available: one is a conduction region-wise linear
model, that yields representation of an idealized diode, and the other model avail-
able is the standard Berkeley SPICE semiconductor diode, with an exponential
voltage-current relation.

B.1.1 Conduction region-wise linear model

The piece-wise linear diode model in LTspice is characterized by three conduction
regions: ON, OFF and reverse breakdown. Forward conduction and reverse break-
down can non-linear by specifying some parameters. The main parameters for this
type of diode are reported in table B.1:

Name Parameter Default value Units
R,, Resistance in forward conduction 1 Q
Rosy Resistance in reverse conduction  1/Gn Q
Viwd Forward threshold voltage 0 A%
Viwa Reverse threshold voltage 00 \Y
R, Breakdown impedance R,, Q
Lyt Forward current limit 00 A
Revlii Reverse current limit 00 A
Epsilon width of quadratic region 0 Vv
Revepsilon width of quadratic region reverse 0 \Y

Table B.1: LTspice Diode model parameters

In this case just the idealized case is required, so just the parameters Ron, Roff,
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B — LTspice device models

Viwd and Vrev must be defined, accordingly on the diode datasheet:

e R,y =69

o Ry =1MQ
o Vipa =025V
o V=20V

The resulting characteristic is shown in figure B.1:

iq

‘/rev Vfwd Vd

Figure B.1: Diode piece-wise model in LTspice

B.1.2 Berkeley diode model

The standard Berkeley SPICE semiconductor diode is diode model with an expo-
nential characteristic. With appropriate precautions it is possible to refer to the
shape of the Shockley equation. The equivalent circuit is shown in figure B.2:
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B.1 — Diode model

vf

Figure B.2: DC Large-signal LTspice Diode model

This model contains an active diode D, a series resistance R, and a shunt
conductance G,,;n. The dc model variables are the voltage across the diode vy, the
voltage across the internal diode vy and the terminal current i4. In the table B.2
the most important parameters are reported:

Name Parameter Default value Units
I, Saturation current 10-10~0 A

R, Series resistance 0 Q

n Emission coefficient 1

Gomin  Shunt conductance 1-10712 S
EG Activation energy 1.11 eV
XTI I, temperature exponent 3

BV Breakdown voltage 00 \Y
Ipy Saturation current 1-1071 A

Table B.2: LTspice Diode model parameters

From these parameters it is possible to define the device characteristic from the
following equations:

UfZRs-id—l—Ud (B.l)
ia = f(va) (B.2)

Four operative regions define the relation between the internal diode voltage and
diode current:
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B — LTspice device models

1. For vd < =5 -nV;

g
ig =1, - ((277‘/;s — 1) + Gin * Vd (BS)

2. For BV <wvd < —=5-nV;

id = —IS + Gmin * Vg (B4)
3. For vd = BV
id == _[BV (BS)
4. For vd < BV
_BV+uy BV
id:—ls-(e wd—1+—) (B.6)
Vi

The model takes also into account the temperature effect on the parameters. Tyons
is the nominal temperature that have a default value of 27 °C. For the saturation
current I, the parameters n, EG and XTI are used to model its variation in function
of the temperature:

XTI

[s(T) = [S<TNOM) : <TN1;M> ! . €<%>.(TN10A{_%) (B?)

The model is much more complicated than the one used to get the Euler solution.
For this reason many parameters was set in order to get a model as similar as
possible to the expression 3.2:

.RSZOQ — Vg = Vf

e XGI=0and EG=0eV — [(T)=I;(Tvou) VT

B.2 Inductor model

The inductor model model is represented in figure B.3:
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B.2 — Inductor model

Rser

Rpar — — Cpar

Figure B.3: LTspice inductor model

The parameter Rggpgr, that is a series resistance, has a default value of 1 mf2
that is not mentioned the inductance statement. This allows LTspice to integrate
the inductance as a Norton equivalent circuit instead of Thevenin equivalent in
order to reduce the size of the circuit’s linearized matrix. This parameter makes
errors in the simulation, especially when the value of L is quite low (that is the
case of a patch with a high value of @)). In order to avoid this error this parameter
has been set to a null value. The disadvantage is that LTspice requires to use the
more cumbersome Thevenin equivalent of the inductor during transient analysis
and consequently all the simulations are longer. In conclusions, for the inductor
model:

e Rspr=10
e Rpar =00 (default)

[ ) CPAR =0 (default)
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